
EE 3340
Homework Problem #041

Use LTspice to verify your answers for Homework Problem #040. The circuit schematic
diagram is reproduced below.
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VA 2l al aC 173 120
VB al bl AC 173 0
VC bl <l AC 173 -120
vl al AZ DC 0
vZ bl BZ DC 0
v3 el 0 pc 0
RAB A2 AB 30
LAB AB BZ 10
RBC BZ BC 30
LEC BC 0 10
RCA CA A2 30
LCA 0 CA 10
JAC LIN 1 {1/7 (2%pi) y  {1/ (2%pi)}
end

BY cotehsi reveark prabl fn LEE 3 m
--— BAC Analysis ---

frequency: 0.159155 Hz
Viol): mag: 1.00511e-014 phase: 135° voltage
Vial): mai: 173 phase: -60° voltage
Vihl): mad : 173 phase: -120° voltage
WiaZ): mai: 173 phase: -60° voltage
Vibh2): mag: 173 phase: -120° roltage
Wah): mai: 119.906 phase: -125.2467 voltage

1 Vibeo): mag: 54.7058 phase: -48.4401* voltagecA WVica): may: 54.7058 phase: 11.5599° voltage~ I{Lca): mag: 5.47058 phase: 101.566 devicecurrentLge TS |I({Lho): mag: 5.47058 phase: -138.434~° device current
I ~~ |[I{Lah}: mag: 5.47058 phase: -18.4344" devicecurrentAg I{Rroa): mag: 5.47058 phase: 101.566° devicecurrentI{Bhc): mag: 5.47058 phase: -138.434° devicecurrentTec LY I{Rah): mag: 5.47058 phase: -18.4344° devicecurrentI{w3): mag: 9.47532 phase: T1.5656° device currentLyg —>[I{v2): mad: 9.41532 phase: -168.434° device current

pd I{vl): mag: 9.47532 phase: -48.4344" device current
Laa I(Vec): mag: 45.2548 phase: 135° device currentI{vh): mag: 51.0912 phase: 143.903° device currentI{va): mag: 41.8836 phase: 146.6747 devicecurrent


